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CORPORATE ACCOUNTING

Time : Three Hours

Maximum Marks : 40 (For Regular Students)               Minimum Pass Marks : 33%
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uksV& lHkh iz'u gy dhft,A
Attempt all questions.

bdkbZ-I/Unit-I

1. va'k ls D;k vk'k; gS \ fofHkUu izdkj ds iwokZf/kdkj va'kkssa dk o.kZu dhft;sA  8/10

What do you mean by the term ‘Share’ ? Describe the different types of preference
shares.

bdkbZ-II/Unit-II

2. ykHkka'k dh ?kks"k.kk o Hkqxrku ds lEcU/k esa D;k izfof"V;k° dh tkrh gSa\ 8/10

What Journal entries are passed as required declaration and payment of dividend ?

bdkbZ-III/Unit-III

3. lq/khj fy- esa 50,000 lerk va'k 10 :- okys 8 :- nŸk gSA dEiuh izR;sd o"kZ ykHk dk 10%
lkekU; lap; essa gLrkarfjr djrh gSA vuqekfur ykHk (xr o"kZ ds dk;Z ij vk/kkfjr) fcuk dj dkVs
10,00,000 :- gS vkSj dj dh nj 65% gSA ykHkka'k dh lkekU; nj 16% izfro"kZ gSA lq/khj fy-
dh 7% iwokZf/kdkj va'k iw°th 4,00,000 :- gS tks 10 :- okys va'kkssa esa gSA vk; fof/k ls va'k dk
ewY; fudkfy;sA  8/10

Sudhir Ltd. has Rs. 50,000 equity shares of Rs. 10 each. Rs. 8 paid. The company
transfers 10% of profit to general reserve every year. The expected profit (based
on previous year’s performance) before tax is Rs. 10,00,000 and the rate of tax is
65% Normal rate of dividend is 16% p.a. Sudhir Ltd.’s 7% pref. share capital is
Rs. 4,00,000 divided into shares of Rs. 10 each. Find out the value of share by
yield method.
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bdkbZ-IV/Unit-IV

4. A fy- us B fy- dh 3/5 va'k iw°th ÿ; dh gSA A fy- ds vfUre jgfr;s esasa 10,000 :- dk ,slk
eky 'kkfey gS tks buds R fy- ls ÿ; fd;k gSA B fy-] A fy- dks eky fcÿh ewY; ij 25% ykHk
ls csprh gSA

B fy- ds vfUre jgfr;s esa 33,000 :- dk ,slk eky 'kkfey gS tks blus A fy- ls ÿ; fd;k gSA
B fy- dks A fy- eky ykxr + 10% ykHk ij csprh gSA

vfUre jgfr;s essa 'kfkey u olwy gqvk ykHk fudkfy, vkSj lesfdr fpÎs esa bls izdV djus dh fofËk
fyf[k;sA  8/10

A Ltd. purchased 3/5 share capital of B Ltd. Closing inventories of A Ltd. includes
goods of Rs. 10,000 purchased from B Ltd. Sells goods to A Ltd. by charging
25% on sales.

Closing inventories of B Ltd. includes goods Rs. 33,000 purchased from A Ltd.
A Ltd. sells goods to B Ltd. at cost + 10% profit.
Find out unrealised profit included in closing inventories and mention its treatment
in consolidated Balance Sheet.

bdkbZ-V/Unit-V

5. gLrkUrjd vkSj gLrkUrjh dEiuh fdls dgrs gSa\ gLrkUrjd vkSj gLrkUrjh dEiuh dh iqLrdkssaa esa
dkSu&lh izfof"V;k° dh tkrh gSa\  8/10

What is transferor and transferee company ? What accounting entries are made
in the books of transferor company and transferee company ?

Y – 537


